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= Year 9/10    = LINEAR FUNCTIONS      = Worksheet 5
	1. Show that the two lines x/3 − y/5 = 1 and x − 0.6y − 2 = 0 are parallel.

	2. Show that the two lines 3x − y + 2 = 0 and x + 3y + 2 = 0 are perpendicular.

	3. Solve simultaneously the pair of linear equations for x and y:
2x + 5y = 3, 2y − 3x + 5 = 0.


	4. Find {(x, y): 6x + 2y = 2}∩{(x, y): y = −3x + 1}.


	5. Find the inequality for the shaded region.
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	6. Sketch and shade the region described by x + y ≤ 2.
                                      y
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	7. Sketch and shade the region described by x − 2y > 2.

                                                       y
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	8. Sketch and shade the region {(x, y): x > −2}∩{(x, y): y ≤ 1}.
                                                    y

                                                 0                       x

	9. The line x − 2y = 0 is translated horizontally to the left by 2 units. Find the equation of the line after the translation. Sketch the graphs of the original line and the new line on the same set of axes.                                                             y
                                                                     0                   x

	10. The line x − 2y = 4 is reflected in the x-axis. Find the equation of the line after the reflection. Sketch the graphs of the original line and the new line on the same set of axes.
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                                                 0                       x

	11. The line x − 2y = 4 is reflected in the y-axis. Find the equation of the line after the reflection. Sketch the graphs of the original line and the new line on the same set of axes.

                                                     y


                                                0                       x

	Numerical, algebraic and worded answers.



1.  Both lines have the same 


     gradient 5/3.


2.  Line 1: gradient = 3


     Line 2: gradient = −1/3


     3 × −1/3 = −1


3.  x = 31/19, y = −1/19


4.  {(x, y): 3x + y = 1}


5.  x + 2y ≤ 4


9.  x − 2y + 2 = 0


10.  x + 2y − 4 = 0


11.  x + 2y + 4 = 0
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